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Multiple Choice
Identify the choice that best completes the statement or answers the question.

Which of the following is equivalent to 8x + 7y = —6?

Which of the following is equivalent to y = —%er%?

—4x-5y=06 4x - 5y =-6 —4x+ 5y =-6 4x+5y =6

Which is the y-intercept for 7x + 8y = -5?

7 8 7 5

8 8 8 8
Which is the slope for 3x - 2y = 1?

_1 _3 3 1
2 2 2 2
. . : 9 11
L Which of the following is equivalent to y = 1—0x+1—0‘?
-9+ 10y=-1 Ox-10y=-11 -9x-10y=11 9x+10y=11
L Which of the following is equivalent to 4x + 3y = —6?
4 4 4 4
= —x-2 = ——x-2 = —x+2 = ——x+2
yo3t 73 ym3t YT T3

Which of the following has a slope equal to a negative four rise and a negative three
run?

—4x+3y=-2 -2x-3y=-4 —4x-3y=-2 -2x+3y=-4
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L Which of the following matches the graph?
'y

A\
\
AN
S 4 3 2 -1 \‘\ 3 x
] \
YT YT X~ 7272 YT
L Which of the following matches the graph?
'y
) /
/
/
5 4 3 7/717 x
/ )
/S
Sx+4y=-7 Sx+4y =17 Sx-4y=17 -Sx-4y=-7
Which of the following has a slope equal to a positive four rise and a negative three
run?
4 4 4 4
= -2x—— = 2x+— = ——x-2 = —x+2
y X 3 y=2Xx 3 y 3x y 3x
2
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